
Mainframe

Fan Parts

DC Fan
Table 4-4. DC Fan Parts

Item Description Part Number

1 Fan Assembly 24VDC 01090-68520

2 Air Tunnel 01090-40401

3 Finger Guard 3160-0419

4 Panel Fan 01090-00228

5 Screw Machine 0515-0983

6 Screw Machine M5x6 0515-1510

7 Nut 0535-0056

Figure 4-4. DC Fan Parts

4-10 Mainframe Parts ID



Mainframe

AC Fan
Table 4-5. AC Fan Parts

Item Description Part Number

1 Screw M5X0.8 6lg 0515-0560

2 Panel Fan 01090-00208

3 Outlet Fan, Front 01090-42303

4 Outlet Fan, Back 01090-42304

5 Screw M4�0.7 - 10lg 0515-0554

6 Washer

7 AC Fan, Tube Axial 115V 3160-0421

8 Cable Fan 01090-61608

9 Screw 0515-1115

10 Nut M4 0535-0023

11 Washer 2190-0586

12 Plate Fan AC Fan 01090-04105

13 Insulation Fan AC Fan 4040-2151

14 Washer 2190-0586

Figure 4-5. AC Fan Parts

Mainframe Parts ID 4-11


